> restart:

theta2(t);

theta3(t);

PG2x(t) :=r2 * sin(theta2(t));
PG2y(t) :=-r2 * cos(theta2(t));
VG2x(t) := diff(PG2x(t),t);
VG2y(t) := diff(PG2y(t),t);
AG2x(t) := diff(VG2x(t),1);
AG2y(t) := diff(VG2y(t),1);

02(t)

03(t)
PG2xt) :=r2 sin(02(t))
PG2y(t) := -r2 cos(82(t))

VG2X1) := 2 cos(82(1) [ 562(0}
t

VG2Y(1) := 12 sin(02(t)) ( gez(t)j
t

2 2

AG2xt) := -r2 sin(62(t)) ( %62(0) + r2 cos(92(t)) d_z 02(t)
dt
2

AG2y(t) := r2 cos(2(t)) ( %92(0] + 12 sin(62(t)) d—2 02(t)
dt

> eql:=R12x =m2* AG2x(t);
eq2 :=R12y -m2*g =m2 * AG2y(t);
eq3 := - R12y*r2*sin(theta2(t)) - r2*R12x*cos(theta2(t)) = 1G2 *
diff(diff(theta2(t),t),t);
2 2
. d d
eql:= R12x= m2| -r2 sin(62(t)) [ m 92(0) + r2 cos(02(t)) —262(t)
at

2 2
d ) d
eq2:= R12y- m2g=m2| r2 cos(62(t)) ( = 92(0} + 12 sin(62(t)) - 02(t)
dt




2
eq3:= -R12yr2 sin(02(t)) - r2 R12xcos(02(t)) = IG2 d_2 02(t)
dt

> sostituzioni := {diff(theta2(t),t$2)= (t2_i2 - 2*t2_il +
t2_i)/(delta_t"2),diff(theta2(t),t)= (t2_il - t2_i)/delta_t, theta2(t) =
theta2 };

equazl := subs(sostituzioni,eql);

equaz2 .= subs(sostituzioni,eq?2);

equaz3 ;= subs(sostituzioni,eq3);

2
T t2_i2-2t2_i1+t2 i d t2_i1-t2 i
sostituzioni={ — 02(t) = ,—02() = ——, 02(t) =02
2 2 dt delta_t
dt delta_t

. 2 : .
r2 sin(02) (t2_i1-t2 ) r2cos(62) (t2_i2-2t2_il+1t2_j)
- +

equazl=R12x=m2 > .
delta_t delta_t

2 . . :
r2 cos(02) (t2_i1-t2_i) r2sin(e2) (t2_i2-2t2_i1+12_j)
+

equazz=R12y- m2g=m2 > .
delta_t delta_t

: IG2 (t2_i2-2t2_i1+t2
equaz3=-R12yr2 sin(62) - r2 R12xcos(62) = G2(t2_12-212 11+12 )

2
delta_t
> sistema :={equazl,equaz2,equaz3}:
variabili := {R12x,R12y,t2_i2,t3_i2}:
| soluzione:=solve(sistema,variabili):
> theta2 :=t2_i;
assign(soluzione);
02 :=t2 i

> factor(t2_i2);

2 2 2
m2r2 sin(t2_j) gdelta t -2r2 m2t2_il+r2 m2t2_i-21G2t2_ i1+ 1G212 i

2
r2 m2+1G2
> 162 := 0.15:
r2:=0.3;
| :=0.6;
m2 := 0.480;
g :=9.807,
delta_t :=0.001;

IG2:=0.15




r2:=0.3
:=0.6
m2:=0.480
g:=9.807
delta_t=0.001

> TEZ2_ini := evalf(135*(Pi/180));

OM2_ini := evalf(0*(Pi/180));

TE2 2 :=TEZ2 ini + delta_t * OM2_ini;

TEZ2[1] := TE2_ini;

TE2[2] :=TE2_2;

TE2[3] :=

eval(t2_i2,{t2_i=TE2 ini,t2_i1=TE2 2,t3 i=TE3 ini,t3 i1=TE3 2});

TE2_ini:= 2.356194490
OM2_ini:=0.
TE2_2:=2.356194490
TE2 :=2.356194490

TEZ, :=2.356194490
TEZ; :=2.356189321

> inizio :=1;
intervallo := 10;
fine := 2500;
for i from 4 to fine do
TE2 ini := TEZ2[i-2]:
TE2 2 :=TEZ2[i-1]:
TEZ2[i] := eval(t2_i2,{t2_i=TE2_ini,t2_i1=TE2_2}):
end do:

inizio:=1
intervallo:= 10
fine:= 2500

> draw(pendoloc);
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> bipendolo;

rag_cer := 0.1,
with(geometry):
point(A,0,0);
point(B,1,1);
assemin:= 3*rag_cer;

{CERC51color = blug, asta25color = blug, astal51color = blug, CERC39{color = blue,
asta239{(color = blue, CERB39{color = blug), astal39{color = blug, CERA CERB5{color = blue),
astal4l{color = greer), asta241{color = greer), CERC41{color = greer), CERB41{color = greer),
CERBA45(color = greer), astal45{color = greer), asta245{color = greer), CERC45{color = greer),
astal46{color = greer), astalXcolor = black thickness= 3), CERB24{color = blue),
CERC24({color = blug, asta224{color = blue, CERB30{color = blug, CERC30{color = blue),
asta230{color = blug, astal30{color = blug, CERB38{color = blug, CERC38{color = blue),
CERB64{color = greer), CERC64{color = greer), asta264{color = greer), astal64{color = greer),
astal48{color = greer), asta248{color = greer), CERB48{color = greer), CERC48{color = greer),
astal32{color = blug, CERC32{color = blue, asta232{color = blug, CERB32{color = blue),
asta256{color = greer), astal56{color = greer), CERB56{color = greer), CERC56{color = greer),
astall6{color = blue, CERC16{color = blue), asta216{color = blug, CERB16{color = blug,
astall4fcolor = blug, asta214{color = blug, CERC14{color = blue, CERB14{color = blug,
CERC44{color = greer, CERB44{color = greer), CERC42{color = greer), asta242{color = green,




astal42{color = greer), CERB42(color = greer), astall0{color = blug), asta210{color = blue,
CERC10{color = blug, CERB10{color = blue, astal57{color = greer), asta257{color = greer),
CERC57{color = green, CERB57{color = greer), astal44{color = greer), asta244{color = greer),
astal22{color = blue, asta222{color = blug, CERC22{color = blug, CERB22{color = blug,
astal24{color = blue, CERB50{color = greer), CERC50{color = greer), asta250{color = green),
astal50{color = greer), asta221{color = blue, astal21icolor = blug, CERB21{color = blug,
CERC21{color = blug, CERB43(color = greer), CERC43{color = greer), asta243{color = greer),
astal43{color = greer), astall8{color = blue, asta2181color = blug), astal4lcolor = blue,
asta241color = blug, CERC18{color = blug, CERB18{color = blug, CERC34{color = blue,
asta234{color = blue, astal34{color = blug), asta236{color = blue, astal36{color = blue),
CERB36{color = blug, CERC36{color = blue, asta2581color = green, astal58{color = greer),
CERBA4{color = blug), CERC41color = blue, CERCZcolor = black),

asta2Xcolor = black thickness= 3), CERBZ1color = black, CERB34{color = blue),

asta217{color = blue, astall7{color = blug, CERC17{color = blug, CERB17{color = blug,
CERB15(color = blug, CERC15{color = blue, astal35{color = blug, CERB47{color = greer),
CERC47{color = greer), asta247{color = greern), astal47{color = greer), CERB58{color = greer),
CERC58{color = green), astal381color = blug), asta238{color = blug, CERC19{color = blue),
asta219{color = blue, CERB19{color = blue), asta231{color = blug, astal31{color = blue),
CERB31({color = blug, CERC31{color = blug, asta215{color = blue), astall5{color = blug,
CERB35{color = blug, CERC35{color = blug, asta235{color = blue), asta220{color = blug,
astal20{color = blue, CERC20{color = blue, CERB23{color = blug, CERC23{color = blue),
astaz223{color = blue, astal23{color = blug, CERB20{color = blug, CERB26{color = blug,
CERC26{color = blug), asta2261color = blue, astal26]color = blug), astal91color = blue),
asta291color = blug, CERB9{color = blug, CERC9{color = blug, CERB46{color = greer),
CERC46({color = green), asta246{color = green, astall2{color = blue), astal2lcolor = blue),
asta221color = blug, CERB12{color = blug, CERC12{color = blue, asta212{color = blue),
CERC2{color = blue, CERB2{color = blue, astal29{color = blue), asta229{color = blug,
CERC29{color = blug, CERB29{color = blue, astal67{color = green, asta267{color = greer),
CERC67{color = greer), CERB67{color = greer), astal53{color = greer), astall3{color = blue,
asta213{color = blue, CERB13{color = blue, CERC13{color = blue), astal19{color = blug,
CERB62{color = greer), CERC62{color = greer), asta211{color = blue, astalll{color = blue,
CERB11{color = blug, CERC11{color = blue, asta262{color = greer), astal62{color = greer),
astal49{color = greer), asta249{color = greer), astal52{color = greer), asta252{color = green,
CERC52{color = greer), CERB52{color = greer), CERB8{color = blug, CERC8Zcolor = blug),
astaz281color = blug), astal81color = blug), astal25{color = blue, asta2251color = blue),
CERC25{color = blug, CERB25{color = blue, asta255{color = green), astal55{color = greer),
CERBS55(color = greer), CERC55{color = greer), CERB53(color = greer), CERC53{color = green,
asta253{color = greer), astal63{color = greer), asta263{color = greer), CERB63{color = greer),
CERC®63{color = green, CERB28{color = blue), astal40{color = greer), asta240{color = green,
CERC40{color = greer), CERB40{color = greer), CERC66{color = greer), asta266{color = green,
CERBSG66{color = greer), astal28{color = blug, asta2281color = blue, CERC28{color = blue),
astalllcolor = blug, CERB49{color = greer), CERC49{color = greer), asta21color = blug),
CERB1{color = blug, CERC1{color = blue, asta260{color = greer), CERC60{color = greer),
CERBG60({color = greer), astal66{color = greer), CERB61{color = greer), CERC61{color = green,
asta261{color = greer), astal61{color = greer), asta233{color = blug, astal33{color = blue),
CERC33{color = blug), astal60{color = greer), astal6lcolor = blug), asta261color = blue),
CERC6{color = blug, CERB6{color = blue, asta271color = blue, astal71color= blue,
CERB7{color = blug, CERC71color = blue, asta251{color = greer), astal51{color = greer),
CERC51{color = greer), CERB51{color = greer), CERB33{color = blug, CERB65{color = greer),
CERCS65{color = greer), asta265{color = greer), astal65{color = greer), CERB54{color = greer),



CERC54{color = greer), asta254{color = greer), astal54{color = green), astal59{color = green,
CERC59{color = greer), asta259{color = greer), CERB59{color = greer), CERC27{color = blue),
asta227{color = blue, astal27{color = blug, CERB27{color = blug, CERC3{color = blue),
asta231color = blug), astal31color = blug, CERB3{color = blug, CERB37{color = blue),
CERC37{color = blug), asta237{color = blue),

astal37{color=blue}

rag_cer:=0.1
A
B
assemin=0.3

> ellipse(p, ['foci'=[A,B], 'MinorAxis'=0.2], n);

draw(p);
oggetto :={astal271,asta2371,CERB31,astal371,CERC371},
draw(oggetto);
p
B
0,87
0,6
0,47
0,27
0]
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oggetta= {astal37]1asta2371CERC371CERB3lastal27}
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> draw(bipendolo);
Warning, computation interrupted

>




